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1-scale of the prediction error

6.5

6.0

5.5

5.0

4.5

CV prediction performance

a
o 01

= 0.8

NPy ¢ : ls E

L
[ | L |
. L
(IR RRRR
[ | ]
I I I I I

le-02 le-01 1le+00 le+01 le+02

Penalization level (A)



=0.1

Coefficient path for alpha

N

M < [SVee) n OO N~ — O

_ _ _ _ _ _ _
A0 T0 00 T0- ¢0- €0- 00—

a1eWIISa 1U3IdIJ80D

le-01 1e+00 le+01 le+02

le-02



=0.1

Coefficient path for alpha

N

M < [SVee) n OO N~ — O

_ _ _ _ _ _ _
A0 T0 00 T0- ¢0- €0- 00—

a1eWIISa 1U3IdIJ80D

le-01 1e+00 le+01 le+02

le-02



=0.8

Coefficient path for alpha

N~ —l O

0

_ _ _ _
0 T0- A €0- ¥'0-

a1eWIISa 1U3IdIJ80D

5.00 10.00

0.50 1.00

0.05 0.10

0.01



Coefficient estimate

0.2

0.1

0.0

-0.1

Coefficient path for alpha = 0.1

D 0 OO N

1le-03

le-02 le-01 1e+00

le+01




Coefficient estimate

0.2

0.1

0.0

-0.1

Coefficient path for alpha = 0.1

D 0 OO N

1le-03

le-02 le-01 1e+00

le+01




Coefficient estimate

0.2

0.1

0.0

-0.1

Coefficient path for alpha = 0.8

w

o 00 OO N

[

0.001

0.005 0.050

0.500
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